Rubric: UNIT: RADICALS AND RIGHT TRIANGLES & APPLYING ALGEBRA TO THE REAL WORLD
PROJECT: WHAT WILL IT COST
                                                                          ALGEBRA 1: Criteria B INVESTIGATING PATTERNS



Cover sheet and Sources 








Write down: Name, Project Name, class period, & seat # on cover sheet.   Information on Hershey’s candy bar  and Inflation rate…. Answer: Cover Sheet: John Doe, P-1, Seat 39,  “Future Price of a Hershey’s Candy Bar”. Cover sheet has color picture of Hershey’s candy bar.  Attached 3 or more website Addresses or other data references.  Hardcopy proof of all data used and the data highlighted with reference easy to find.  Data recorded correctly and neatly from references.  Calculations  using the Rise/Run, Rise = 24cents and Run =9 years24/9= 2.66666… To prove my slope calculation are correct, I used  Δy/Δx . Using the table, the Δy from 2001 to 2010 was 24 cents and the Δx was 9 years . Substituting into Δy/Δx  format 24/9 ( Multiply by 1/3) MI1 and MF = 8/3 using TIB = 2.66666… and using (y2-y1)/(x2-x1) method … To calculate the equation,    in Standard (Ax+By=C),  Slope-Intercept (y=ax+b)  & Point-Slope


(y-y1 = a(x-x1) )forms I first modified the point form into y = a(x-x1)+ y1 then substituted the slope &  chosen  point on my best fit line (2001,45) to get ….  I proved my equation was correct by (y=ax+b) Show all step by step processes. Historical research  to equations to future amounts to the year 2062.Linear equation of past history prices of a Hershey’s Candy bar from research results using (5 years of data. Past prices of a Hershey' candy bar within the last 15 years.    Process write up vertical format on one sheet—easy to follow. Calculations of historical and future prices by year until 2062 in table(s).











Write down: Name, Project Name, class period, & seat # on cover sheet.   Information on Hershey’s candy bar and inflation rate…Answer: Cover Sheet: John Doe, P-1, Seat 39,  Hershey’s candy bar.  Attached only 2  (or 3)  website Address(s) http://www.foodtimeline.org/foodfaq5.html. and Web Site:  Had 3rd web site listed but no hardcopy proof of data.  Data recorded correctly from sites. 





Calculate linear equations(s) from research using past history prices of a Name Brand product. Answer: Calculations  using the Rise/Run, Rise = 9cents and Run =24 years : 9/24= 0.375…   To calculate the equation,    in  Point-Slope (y-y1 = a(x-x1) ) form, I first modified the point form into y = a(x-x1)+ y1 then substituted the slope &  chosen  point on my best fit line (2001,45) to get into y = 3/8(x-2001)+ 45. The equation then became y=0.375x -705.375 


Show Calculations of historical and future prices by year until 2062 in table(s). Answer: Calculate slope and linear equation of Historical prices from research  results using  2 sources or 3 or 4  years of data. Historical cost of a Hershey’s candy bar within the last 15 years. Process write up not easily followed or not in vertical format or missing steps.  





 








Write down: Name, Project Name, class period, & seat # on cover sheet.   Information on Hershey’s candy bar and inflation rate…Answer: Cover Sheet: John Doe, P-1, Seat 39,  Hershey’s candy bar.  Attached only 2  (or 3)  website Address(s) http://www.foodtimeline.org/foodfaq5.html. and Web Site:  Had 3rd web site listed but no hardcopy proof of data.  Data recorded correctly from sites. 


Calculate linear equations(s) from research using past history prices of a Name Brand product.   Answer: Calculations  using the Rise/Run, Rise = 24cents and Run =9 years : 24/9= 2.66666…   To calculate the equation,    in  Point-Slope (y-y1 = a(x-x1) ) form, I first modified the point form into y = a(x-x1)+ y1 then substituted the slope &  chosen  point on my best fit line (2001,45) to get into y = 8/3(x-2001)+ 45. The equation then became y=2.6666…x -5291.  Demonstrated this equation worked with future prices of a Hershey candy bar using table.


Show step by step process from Historical research  to equations to future amounts to the year 2062.


Linear equation of usage rates  from research  results using  5 years of data. Historical cost of a Hershey’s candy bar within the last 15 years. Process write up neat and easy to follow. “I then used this equation to calculate future amounts starting in the Year 2012. I used Excel Function editor  wrote = (8/3)*A21 (2012)- 5291. After I had the equation into Excel, I highlighted the equation cell then highlighted down to the year 2062. Edit, Fill, Down.”  Future prices of Hershey’s candy by year until 2062 in table(s). All equations shown. 





  











7-8 Selects &applies problem


  solving techniques.  Draws conclusions and provide justifications or proofs.





5-6 Selects and applies problem


 solving techniques. Describes


general rules and relationships. Draws conclusions of findings.





3-4 Selects and applies problem


    solving techniques to recognize patterns. Suggest 


general rules or relationships. 


      Familiar Contexts 





Applies with some 


 guidance problem solving  


techniques. Recognize simple patterns.











. Write down: Name, Project Name, class period, & seat # on cover sheet.   Information on Hershey’s candy bar and inflation rate… Ans:  Cover Sheet:  John Doe, Hershey’s  Attached only 1 (or 2)  website Address(s)http://www.foodtimeline.org/foodfaq5.html. 


Recorded incorrectly data from site or data bogus from reference. No  or 1 hardcopy data from reference. 





Calculate linear equations(s) from research using past history prices of a Name Brand product. Answer: Calculations: Rise = 9  and Run =24. To find  slope   9*24 = 216  To calculate the equation,  (y=ax+b)  I get:  y = 216x +b. I ignored the “b” part because it confused me and I hope no one would notice. Guessing at slope or at equations


 


Show step by step process from Historical research  to equations to future amounts to the year 2062.


 Answer: Calculate linear equation of Historical prices from research  results using ( 2 sources or (3 years of data. Historical price of a Hershey’s candy bar  not  within the last 15 years. Bogus amount of historical prices or bogus calculations of slope or equations.  Write up of calculations difficult to follow. Process of calculations cannot be determined from information provided.

















Calculating Linear Equation
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 Process Write up









































Write down: Name, Project Name, class period, & seat # on cover sheet.   Information on Hershey’s candy bar and inflation rate…


Answer:  ?   Blank


 Don’t Know








Calculate linear equations(s) from research using past history prices of a Name Brand product.   Answer:  ?   Blank. Don’t Know




















Show step by step process from Historical research  to equations to future amounts to the year 2062.





.     Answer:  ?   Blank. Don’t Know
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